Determinants - Class XII

Past Year JEE Questions

Questions

Quetion: 01
x—2 2x-3 3x—4
fA=|2x—-3 3x—-4 4x-5 |=
3x=5 5x—-8 10x-17

Ax3 + Bx2 + Cx + D, then B + C is equalto:

A. -1
B.-3
C.9
D.1
Solutions
Solution: 01
Explanation

x—2 2x-3 3x—-4
A=|2x—-3 3x—-4 4x-5
3x—=5 5x—-8 10x-17

R - R - Rq
R3 - R3-Rp

x—2 2x-3 3x—4

=(x—-1 x—1 x—1
x—2 2(x-=-2) 6(x-2)

x—2 2x-3 3x-4

Sx-Dx=-2) 1 1 1
1 2 6

C1-C-C

C—-0C-C3

—x+1 —x+1 3x—-4
=x-Dx-=2) 0 0 1
-1 -4 6
=-(x-1)(X-2)[-4(1-x)+1(1-x)]

= (x2-3x + 2)[3x - 3]

=3x3 +9x2 - 6x + 3x2-9x + 6



= 3x3 +12x%-15x+ 6 = Ax3 + Bx2 + Cx + D
~A=-3,B=12,C=-15

B+C=12-15=-3



